IEFSARAS: 002157 WEFHMRR: EFPRE
RHEMRY: 112612 R MERR: 17 IEF 01

A EERMERBHRRAR
BESXT AT 2019 SFIREMERFZHR R &R TFHRFTR
ZENARBRANAEZERERL

AN BB FLERARER CWENRNGA K. RAfTE, BAE
Bitd. RIUFRARERLR.

AR BT 2w AR BT pED CBLR AR« CEBLINED ™D A SHIE »
TP IEFRRH A A BR A F] (LR RRR “ AT 7D XA F] 2019 HERR i) 1 15 5 8460
THRI CBANfRIAR AU TR 7D 15 R T Ul 5 A ek 4 TR 558 2 ) PN T
BT T Aome MR CEHFIMEY A1 QLI IEARH MDA R AR ERE) (BUFHE
PR CARIEREY”) WRUE, ArlRHESEEE LRGN QLI IERBHIR A
PR~ 7] 2019 4 R 1 e SR URh T ) (500D (LR fiRR “CEah it &) (F50)7)
B RN 4 AT T A% .

=\ ANHEIL Y

1. ~wET 2019 4 12 A 26 HEE®E BRI Chttp:/Awww.cninfo.com.cn) |
AT (TP IEFRRH ARG BR A 7 2019 45 R il 14 B S8 il iR v v 352 7 38l
XTRA ).

2. AF) T 2019 4F 12 H 26 Hild A R BRI AAT 1 (VLT IEFSRHE B A A R
Q] SRTRE 2019 A R4 B SRR TR B R TR B A B, R E] AR A
WXt RUkA% KRS F LLATR, AZsIFE]DY 2019 £ 12 H 26 HZE 2020 1 H 4
H, A7 10 Ko fFEARHRAN, AR ZTA AR EHESRBEL. AR
W, o) R AR BT AT N B2 S0 AR IR UL U AT G4 H 1 R 18

=\ RTAE BHFLXTUBEIRN R E R



NFERFESZE ARSI R SOkt BB 55 2w 5L
AT T m) AT 157 86 [F B FH A A S0 RAE A 7 8 7] 2wl AR )
HRSS R HAR A

= BEER

R CEHINE) . (AR, 2 alxt i G 4 8 SRS 1) A 7 1 L
SelFESPRESER, BHESKEKERLUT:

1. WU R 44 55 AR R R BT 8 BEUR R AT, FTE CERLIMNED.
(AAFERR) K CBhitR) (FES) S5 TR U R A AMEIR BE4%
2. WA G FEANG B8 2, AAFE R HOS B BN R IR AR 2

3. WU BRI A ] SEREA TR LE 2 7] K7 mUE RN A B 28 L 5t

MARK JEH BRI ER . SREA G PEEHA R ZOHA Ok

%) Nt

4. WX RIIAAFAE T RAE— 15T

(1) #2124 A WHEIEZRAE 5 Bl e N ANE 2 AN ik

(2) Al 12 > Al BEIE 2 R R LA A 8 D ANad 24 Nk

(3) i 12 4> H P B H KRS AT Dol A B i 2 M LR S WL AT EA:
T B KRBT A 2B A it

(4) BA (xmif) MERAREEARESR .. SBEHNRABER;

(5) EEEIAE NGS5 LT 2w BRI

(6) H FERIE I 2 A SE AR T IE -

5. WA R ABIEA R R HE . MALES ., RMEE A A\ 5%LL F ik
13 IR B Pz bl N S L BE A . SCRE. T2

ZE PR, AnEHESNN, AUELBU XN RIEARIE DG, AFAERER
WU RIS HIIE O, AR R EAR SRR AT S A OGEA EAE e s
Lo AR ERD) CHgitRl (FE50) Pl & tr, HAE AR AR TR
HIBUIIN S EAR B Sk AR

FRHA T o

VLV IEFS R B A A TR 2 7]
g
—O=O%F—HtH



